50Hz

VERTICAL MULTISTAGE PUMP S

EVMS

PERFORMANCE CURVE

EVMSG1
0 USgpm 2 3 4 5 8 7 8 9 10 11 12 13
| 1 1 1 1 1 | 1 1 1 1 1 | 1
I T T T T T T T T T T 1
0 Imp.gp.m. 2 3 4 5 6 7 8 9 10 1
250
- 800
p H
[MPa] [m] d?/f.zlkv%\ i
st TR
209 .0 \\3‘\”\ | | B ~~
1.5 kW N N~ N
Bl 3‘2/‘ o | T T ~~ N
1.5 kW—| ~
T =L T~ N - 600
T — T N
29/15 kWL S ~ N
T T T - T NN\
] 27/1.5.kW\_ 4] \\\ \\ N \\ \\
15 450 L1 —26/11kw T | ™~ ™ N — 500
-+ N
BB 24/1 1 kw‘ T T NONU NN
’ T+ N~ TN N N ‘\
22t — T N
. — L] ~
AR ~ e — T — ) NO - 400
] 2?/ “1.1 kV\‘l - \\\\\ \\\\ \\\\ \\ N
T — —~— T NN
104 100 118/11'1Ikwi — = =~ "~ NN
— —
I~ —16/0750kw— L _| ~~~‘~~ \\\\ \\\; ™S ™ L 200
~I=M4/o.75kw— ~
—|— 4 I~ —— — —— T~ TN
e NllEngtaa
- T —— ‘—__ —
- -:1] 8;0-55 KW= — —“____‘-——_ -“~::§‘~\‘\\\\ ™ — 200
1~ 10/055kw— — | —— T
05 50— 9055w —-— L » N —— -“:—55‘::\::\\ ]
T I R R — S
——Tlosriw ]
6/0.37 kW— — —
——5/0.37 kvw——— - —_— 100
— —14/0.37 ww— — —+ 1
— —T3/0.37 kW— —| -
= —=2/0.37 W ———
0- 0 ‘ ‘ 0
T
0 5 10 15 20 2% 30 35 40 45 Q{[l/min]
T T T T T T T T T T T T T T T 1y
0 02 04 06 08 10 12 14 16 18 20 22 24 26 28 Qmh
012 60
P2 —
KW 008 — 1 40
[kw] 0 o o — N7
-
oM 20
SINGLE IMPELLER kW
o0 lHHlHH! 0
0 5 10 15 20 2% 30 35 40 45 Q{[l/min]
NPSH &
20
LI oy
] 10
0 0
0 5 10 15 20 25 30 35 40 45 Q{[l/min]

Rotation speed 2900 min™
Test standard: 1ISO 9906:2012 - Grade 3B

215

Ift

n
[%]

NPSH
Ift

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

= Eaana



EVMS

VERTICAL MULTISTAGE PUMP S

TECHNICAL DATA
EVMSG1

Dimensional sketch

Oval flange (N) DIN Round flange (F) - DN25

B
2 S ‘
& &
A s
|
A G3B A GI8
N o
* 2 holes M10 T 4 holes 914
[
: ‘ G38 i G38
- = o -
8 AL :tw fﬁ T— ﬁl H
100 4 holes 212 H 175 8{ o
143 180 ~
160 210
Dimensions [mm] and Weights [Kg]
Motor Oval flange (N) Round flange (F)
Pmax ; 1~ 3~ Weight weight Weight Weight
Pump Type [MPa] kw Size A H2 Pun%p Pump + Motor H2 Purap Pump + Motor
B C H3|B C H3 1~ 3~ 1~ 3~
EVMSGI1 2/0.37 1.6 0.37 71 2105|139 133 216139 114 216 | 250 14 21.1 19.8 275 17.4 245 23.2
EVMSG1 3/0.37 1.6 0.37 71 2105|139 133 216|139 114 216| 271 145 21.6 20.3 296 17.9 25 237
EVMSG1 4/0.37 1.6 0.37 71 2105|139 133 216|139 114 216| 292 14.9 22 20.7 317 18.3 25.4 24.1
EVMSG1 5/0.37 1.6 0.37 71 2105|139 133 216|139 114 216| 313 15.4 225 21.2 338 18.8 25.9 24.6
EVMSG1 6/0.37 1.6 0.37 71 2105|139 133 216139 114 216| 334 15.8 22.9 21.6 359 19.2 26.3 25
EVMSG1 7/0.37 1.6 0.37 71 2105|139 133 216139 114 216 | 355 16.2 233 22 380 19.6 26.7 25.4
EVMSG1 8/0.37 1.6 0.37 71 2105|139 133 216|139 114 216| 376 16.7 238 225 401 20.1 27.2 25.9
EVMSGI1 9/0.55 1.6 0.55 71 2105|139 133 216|139 114 216| 397 17.1 25.6 233 422 20.5 29 26.7
EVMSG1 10/0.55 16 0.55 71 2105|139 133 216 (139 114 216| 418 17.5 26 23.7 443 20.9 29.4 27.1
EVMSG1 11/0.55 16 0.55 71 2105|139 133 216|139 114 216 439 18 26.5 24.2 464 21.4 29.9 27.6
EVMSG1 12/0.55 16 0.55 71 2105|139 133 216139 114 216 | 460 18.7 27.2 24.9 485 22.1 30.6 28.3
EVMSGI1 13/0.55 16 0.55 71 2105|139 133 216|139 114 216 481 19.3 27.8 255 506 227 31.2 28.9
EVMSGI1 14/0.75 16 0.75 80 2120|160 151 232|160 139 232| 512 20 314 295 537 23.4 34.8 329
EVMSGI1 16/0.75 16 0.75 80 2120|160 151 232160 139 232 | 554 21 324 30.5 579 24.4 35.8 33.9
EVMSG1 18/1.1 1.6 11 80 2120|160 151 232160 139 232 | 596 22.1 33.9 33.2 621 255 37.3 36.6
EVMSG1 20/1.1 1.6 11 80 2120 160 151 232160 139 232| 638 23.1 34.9 34.2 663 26.5 38.3 37.6
EVMSG1 22/1.1 1.6 11 80 2120 160 151 232160 139 232 | 680 24.3 36.1 35.4 705 271.7 39.5 38.8
EVMSG1 24/1.1 1.6 11 80 2120|160 151 232160 139 232| 722 253 37.1 36.4 747 28.7 40.5 39.8
EVMSGI1 26/1.1 1.6 11 80 2120|160 151 232|160 139 232 | 764 26.3 38.1 37.4 789 29.7 415 40.8
EVMSGI1 27/1.5 25 15 90S | w2140 172 140 278|180 148 267 - - - - 820 30.1 47.9 42.8
EVMSGI1 29/1.5 25 15 90S | w2140 172 140 278|180 148 267 - - - - 862 311 48.9 43.8
EVMSG1 32/1.5 25 15 90S | w8140 172 140 278|180 148 267 - - - - 925 32.4 50.2 45.1
EVMSG1 34/1.5 25 15 90S | w8140 172 140 278|180 148 267 - - - - 967 33.3 51.1 46
EVMSG1 37/2.2 25 22 90L | 8140|172 140 278|180 148 267 - - - - 1030 34.7 54.2 50.7
EVMSGI1 39/2.2 2.5 2.2 90L | 2140|172 140 278|180 148 267 - - - - 1072 35.7 55.2 51.7

1.6 MPa=16 bar ; 2.5 MPa=25 bar
- not available model

216

ESARA

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

5OH2



50HZ VERTICAL MULTISTAGE PUMP S EVMS

SECTIONAL VIEW
EVMSG1

C

140
128-6
321 135-6
131-1 Na— N /1 \\
130-2 _ \
= ] 212
130-1 >
75
120-3 o~
245 | 1114
128-1 K 7‘ ) 120-13
135-1 XN @/ 1113
B )
212-2 g 115-5
4 111-5
111
& 46
a7
g \\\s 5-4
L
N o \\ 7
|
43-3 ¥ \\ 5-2
52-1 53
44-1 L 31
43_7 ’/\ 21
™ LN 5-1
d 107
S iz 75-1
6 g 273-1
48 @ = 212-1
120-11 )
117
219
with Oval flange (N)
EBARA Pumps Europe 5 ERARA

EBARA Pumps Europe reserves the right to make changes without prior notice



EVM S VERTICAL MULTISTAGE PUMP S 50k

PIPE CONNECTION
EVMSG1

with Round flange (F)

218

% EBARA EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice




50HZ VERTICAL MULTISTAGE PUMP S EVMS

SECTIONAL TABLE

EVMSG1
N° PART NAME MATERIAL DIMENSIONS | STANDARD
EVMSG
4 Casing cover EN 1.4301 (AISI 304)
5-1 Suction casing EN 1.4301 (AISI 304)
5-2 Intermediate Casing EN 1.4301 (AISI 304)
5-3 Intermediate casing bearing EN 1.4301 (AISI 304)
5-4 Discharge casing EN 1.4301 (AISI 304)
6 Bottom casing Cast Iron EN GJL-250-EN1561
7 Outer casing EN 1.4301 (AISI 304)
21 Impeller EN 1.4301 (AISI 304)
31 Shaft EN 1.4301 (AISI 304)
32-1 Adjuster Key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304)
43-7 Spacer EN 1.4301 (AISI 304)
44-1 Shaft sleeve bearing Tungsten carbide
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring Holder EN 1.4301 (AISI 304)
48 Impeller nut A2-70 UNI 7323 with inox insert M8
52-1 Bearing Tungsten carbide
75 O-Ring (plug) EPDM D. 12.37x2.62 OR 3050
75-1 O-Ring (plug) EPDM
107 Liner ring EN 1.4301 (AISI 304) + PPS
111 Mechanical Seal SiC/Carbon/EPDM
111-3  [Mechanical seal seat EN 1.4301 (AISI 304)
111-4 |Seal holder EN 1.4301 (AISI 304)
111-5 |Mechanical seal cartridge EN 1.4301 (AISI 304)
115-1 |O-Ring (outer casing) EPDM D. 129.54x5.34| OR 6510
115-4 |O-Ring (cartridge sleeve) EPDM D. 11.91x2.62 OR 115
115-5 |O-Ring (seal cover) EPDM D. 32.99x2.62 OR 3131
117 Flange gasket EPDM
120-1 |Tie-rod Galvanized steel 6.8 strength class ISO 898/1 M10
120-3 |Screw A2-70 UNI 7323 M4x10 1SO 4762
120-6  |Screw for coupling Galvanized steel M6x25 1SO 4762
120-11 |[Screw for counterflange A2-70 UNI 7323
120-13 |Screw for motor MEC 71-80 Galvanized steel 8.8 strength class ISO 898/1 M6x20 ISO 4017
MEC 90 M8x20 1SO 4017
128-1  [Nut for tie rod Galvanized steel M10 UNI 5588
128-6  |Nut for coupling Galvanized steel M6 1SO 4032
130-1 |Set screw A2-70 UNI 7323 M5x8 UNI 5923
130-2 [Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687
131-1 [Pin for shaft Carbon Steel D. 4x32 UNI 4838
135-1 [Washer Galvanized steel D. 10.5x21x2 UNI 6592
135-6 [Washer Carbon Steel a6
137-1 Impeller spacer EN 1.4301 (AISI 304)
140 Coupling up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)
162 Motor bracket Cast iron EN-GJL-200-EN 1561
212 Plug EN 1.4301 (AISI 304) G 3/8
212-1 |Plug EN 1.4301 (AISI 304) G 3/8
212-2  |Venting plug EN 1.4404 (AISI 316L)
219 Counter flange Galvanized steel
245 Coupling guard EN 1.4301 (AISI 304)
273-1 |Plug Washer EN 1.4301 (AISI 304)

219
EBARA Pumps Europe 5 EBARA

EBARA Pumps Europe reserves the right to make changes without prior notice




50Hz

VERTICAL MULTISTAGE PUMP S

EVMS

QUANTITY FOR MODEL

EVMSG1

N°
415-115-2|5-3(5-4| 6|7|21|31|32-1{43-2{43-3| 43-5| 43-7|44-1|46}47|48]52-1| 75| 75-1| 107|111| 111-3 | 111-4| 111-5| 115-1| 115-4 | 1155

245} 273-1

N°

11
13
15
17
19
21

20
22
26
30
34
38
42

46

48

52
58
62
68
72

1

1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1

120-13| 128-1| 128-6 | 130-1 | 130-2 | 131-1 | 135-1| 135-6 | 137-1| 140| 162| 212| 212-1| 212-2 | 219*

1
1
1
1
1
1
1

1111121

1,11} 3

1111 4
1,115

1,11} 6

1,111} 7

1,11} 8

1,119

1/1]1/10f1
11111111
171111211
1.1(1/13]1
17111/14]1
111111161
1171118} 1
1:111/20(1
1111112211
1,111/24]1
1,111/26] 1
111112711
1.1]1/291
171113211
1.1]1134)1
111113711
101111391

1
1
1
1
1
1
1
1
1
1

1
2
3
4
5

7
8
9

1

1

1

1
1
1

1
1
1
1
1
1
1
1
1
1

1} 110} 1
1} 1)10] 2
1111} 2
1} 1113} 2
1} 1115} 2
1} 1117} 2
1} 1}119) 2
1} 121} 2
1] 1123} 2
1} 1124] 2
1} 1(26] 2
1] 1|29] 2
1] 131] 2
1} 134] 2
1} 136] 2

Pump Type

EVMSG1 2/0.37

EVMSG1 3/0.37

EVMSG1 4/0.37

EVMSG1 5/0.37

EVMSG1 6/0.37

EVMSG1 7/0.37

EVMSG1 8/0.37

EVMSG1 9/0.55

EVMSG1 10/0.55

EVMSG1 11/0.55

EVMSG1 12/0.55

EVMSG1 13/0.55

EVMSG1 14/0.75

EVMSG1 16/0.75

EVMSG1 18/1.1

EVMSG1 20/1.1

EVMSG1 22/1.1

EVMSG1 24/1.1

EVMSG1 26/1.1

EVMSG1 27/1.5

EVMSG1 29/1.5

EVMSG1 32/1.5

EVMSG1 34/1.5

EVMSG1 37/2.2

EVMSG1 39/2.2

120-1 | 120-3 | 120-6 | 120-11*

117

2
2
2
2
2
2
2
2
2
2
2
2
2
2
2
2
2
2
2
/
/
/
/
/
/

Pump Type

EVMSG1 2/0.37

EVMSGI1 3/0.37

EVMSG1 4/0.37

EVMSGL1 5/0.37

EVMSG1 6/0.37

EVMSG1 7/0.37

EVMSGL1 8/0.37

EVMSG1 9/0.55

EVMSG1 10/0.55

EVMSG1 11/0.55

EVMSG1 12/0.55

EVMSG1 13/0.55

EVMSG1 14/0.75

EVMSGL1 16/0.75

EVMSG1 18/1.1

EVMSG1 20/1.1

EVMSG1 22/1.1

EVMSG1 24/1.1

EVMSG1 26/1.1

EVMSG1 27/1.5

EVMSG1 29/1.5

EVMSG1 32/1.5

EVMSGI1 34/1.5

EVMSG1 37/2.2

EVMSG1 39/2.2

* only for Oval flange (N)

220

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice




